1> ITFf we add O to anny numiber thhen res
Dy Predecessor b)) successonr  ©)
2y ITNearest 10 of 91 99 is
ATy ST OO B> 9300 =) D2 OO
= G IR oas the predecessor of
A G TFTOO b))y o791 o) TS

X ick the correct option

<33 WA rifte i expanded formz and find the

1D =SSO o426
=y Oagl1 - IS5

< »=£) Finmnc thie suirr of thre FOIEOows e gGeEeEesTiioeS.

smmallest A ot My ber

i RUiEy ) Syirm of 3450 = v :
smallie st <% ﬂw-@ﬂ.fﬂﬂnﬁiauwmnl

it muinil=>er aurad

=) S yr=mllest 3 clicx
= S oo rZ3TO

e anE o g o

< r= - irxci tlirce mEl issLELS>




